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1 1 2. 2 1 1 2 (kg)
650 100 55 75 80 150 300 400
80 2000
750 100 55 75 80 350 300 510
850 100 70 90 120 150 450 770
1000 100 70 90 120 250 450 140 57 2000 870
1000 100 70 90 120 350 450 920
1100 100 70 120 140 150 550 1220
1250 100 70 120 140 250 550 170 64 2000 1310
1250 100 70 120 140 350 550 1360
1350 100 70 130 150 150 700 1620
180 64 2000
1450 100 70 130 150 350 700 1730
-
g
3 2 3 3
0.75 | 0.65 | 0.15 | 0.10 | 0.02 | 0.75 1.13 0.13
0.85 | 0.75 0.85 1.28 0.15
0.95 | 0.85 0.95 1.43 0.17
2.00
1.10 | 1.00 1.10 1.65 0.20
1.20 | 1.10 1.20 1.80 0.22
1.35 | 1.25 1.35 2.03 0.25
1.45 | 1.25 | 0.15 | 0.10 | 0.02 | 1.45 2.18 0.25
— 1+ 1.55 | 1.35 1.55 | 2.00 | 2.33 0.27
1.65 | 1.45 1.65 2.48 0.29




